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DPHARM A PURI — DT B.<
SECOND REVISION EXAMINATION - 2025
- CLASS:11
Dt MATHEMATICS RegNe
Time : 3.00 Hours , MARKS : 90
PART-I '
All the questions are compulsory _ :  20x1=20
Choose the most suitable answer from the given four alternatives
l. ~ Therule f(x)=x*is a bijection if the domain and the co-domain are given by
1) RR 2) R.(0,0) 3)(0,m)R - D [0,2),[ (0,2)

2 Iflog"/; 0.25=4, then the value of x is

(1) 0.5 2)25 . 3)1.5 (4) 1.25
3 sin(A-B) 4 Sin(B-0) sin(C-A) , ' '
Ccos A cos B cosBcosC cosCcos A
o El) sinA+sinB+SinC 2)1 30 - (4) cosA+cosB+cosC
4 hCH e s s |
1) : (I'H'I)Cr 2)([1-1)Cr 3) . nCr - 4) l’lCr-]
2 3 '
5 — L2y 412y _1(27).
' The value of 1 5 (3) s (3) a\3)is
s @ 310g & S foci'B 4210
(1) log ; (2)2log @ slogz  @ilg?l
6. The equation of one the line represented by the equation x*+2xycotf -y>=0is
(I)x-y cot8=0 (2)x+ytanf=0 3)x cosB+y(sinf+1)=0 (4) xsind+ y(cos8 +1)=0
-1 2 4| —2.7 4,2 o :
7. IfA=|3 1 0/ andB=|6 2 0|thenBs given by
-2 4 2 1-2 4 8

(DB=4A  -(2)B=4A" (3)B=-A  (4)B=6A
8. Vectors d and bare inclined at an angle 6-120° If [dl=1, |_b’| =2, then [(ﬁ’+33)x(37i-3)]2

is eqﬁal to :
225 .. . @275 - (3) 325 ~ (4)300
1 2 3 : -
9, r],m;(? g fo e Powe %) is
(1) % @0 @1 @) o
10. Ifx=asinf and y=>b cos 6, fhgn% is
a 2, b ‘ :
) jasec’® @)= gsee’d (- Zsec’d . @) Tsecls
dx . ’
1. J s | |
1) log | e’.‘_l -log|e’-1|+C ' 2) logle™+ log | €*-1]+C
3) log |e*-1|-logle™+ C 4) log [€*+1 |- log |e*
) log I . : ) 0g [e’+1 l log |e |+C 11-Maths-Page-1
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12. In a certain college 4% of the boys and 1% of the girlsare taller than 1.8 meter. Further 60% of the

students are girls. If a student is selected at random and is taller than 1.8 meters, then the Pmbabll'ty
that the students is a girl is

(1)2/11 : (2)3/11 3) 5/11 (4) 7/11
13. If A= {1,2,3,4) and R be the relation on A defined by {(a,b); a,b€ A,ax bisaneven
number} then the range of R |

1) {1,2,3,4) @) 24} . (3){2,3,4) (4) {1,2,4)
14, . 78, 5= ' »
(1) .35 ()5 (3) 25 . (4) log, 25
15. How 10-digit numbers can be written by usmg digits 9 and 2.
M +°¢, 22" 3 "C, (4) 10!
,16‘ IfO(A)=2 x 3,0(B)=3x2 and (C)=3x 3 then whlch one ofthcfollowmg is not defined
(1) CB +A™! (2)BAC (3)C(A +B ) (4)C(A+B )
17.  The value of the expression sin®4 + cos®6 + 3sin’Ocos2@ =
(Ho (2)2 (3)3 (4)4
S sin ‘ |
18.  limg=5 — = .
(H1 22 .. 3)3 4)0
19. [a*dx - %
. ax B
(D) 7oz+C () aglogs+C (3 %,

20. Ifdb = Ia| I_b.l then the angle between d and b is z

(H4s® (2) 180° (3)90°  (4)60°.
o B PART-II .
Answer any SEVEN questions. (Question No. 30 is compulsory) 7x2=14

21.  IfX={1,2,3,.10 and A= {1,2,3,4,5} find the number” of sets B € X Such that A-B = {4}

22. Construct A quadratic equation with roots 7 and -3. _ _ A

23. Show that cos 10° cos 30° cos 50° cos 70° =3/16"

24.  Find the distinct permutations of the letters of the word MISSISSIPPI?

25.  Find the locus of the point which moves such that its distance from the x-axis is equal to the
distance from the y-axis.

b+c bc b3%c?

c+a ca c?a?

a+b ab a?b?

27.  If G is the centroid of the trlangle ABC prove that GA + GB+ GC=0
28. Find f ‘(x) 1f(x)

. 26. Show that =0

1
Vx Z4+x+1

29. -The probablhty that a new brldge will get an award for its design is 0.48, the probablhty that it will get
an award for the efficient use of materials is 0.36, and that it will get both awards is 0.2. What is the

probability, that
(i) it will get at least one of the two awards (11) it will get only one of the awards.

<0
2x, x is discontinuous at x =0

30. Showthat f(x) ={, 7' 1> 0 11-Maths-Page-2
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PART- III

Answer any SEVEN questions. Question No. 40 is compulsory E el
31.  From the curve y =sin x , draw y =sin |x|
32 simplify ! - =t 1
1
pSV—\/_\/_\/_‘/_\/_\/_\/_Z(k—l)
33. If 6+ @ = and tan 6 =k tan @ then prove that sin(6 - @) = (k+1) sin @

34. A van has 8 seats. It has two seats in the front with two rows of three seats behind. The van belongs to

a family, consisting of seven members F, M, Sty 59 D3 D; D, How many ways can the family sit in the
van if

i) There are no restriction? ii) Either For M drives the van?
iii) D;, Dysits next to a window and F is driving?

35.  Find the sum up to n terms of the series: 1 1= + + .......

log,3 "logg3
log34 logs;4

; logs 64 10943
36.  Find the value of the product
: T : log38 log49

Sl

37. Let @, b, T be unit vectors such that @ . : b =@ ."C= 0 and the angle between b and T is
n —_ 123 ‘ ' .
EProvethat a —,i’ﬁ(b X )

38. Differentiate: y=.\/x + \[:)z + \/E

39. An anti-aircraft can take a maximum of four shots at an enemy plane moving away from it. The
probability of hitting the plane in the first, second, third, and fourth shot are respectively 0.2,0.4,0.2
- and 0.1. Find the probablhty that the gun hits the plane :

40. Integrate:fsecx dx : RN 7
PART-IV

‘Answer ALL the questmns - ' 7x5=35
41. (a)(l) If f : R—R is defined by f (X) 2x -3 proye that f isa bl_]ectlon and find its mverse
(ii) Fmd the domam of m
(OR) . e wal

(b) 7 relatives of a man compnses 4 ladxes and 3 gentl'emen his Wlfe also has 7 relatives; 3 of them are
ladies and 4 gentlemen. In how many ways can they invite a dinner party of 3 ladies and 3
gentlemen so that there are 3 of man's relative and 3 of the Wlfe s relatives?

v to partial fractions: (FF12) i |
olve into artial fractions: _ . ,,
42. (a) ReS Y (x 1)2 (x 2) }
(OR)
(b) Using the. Mathematlcal induction, show that for any natural number n.
. | 1 IR | 1 n

» 1272373 D - nel
43 (a) State and prove Napier formula - ,

i (OR)
1 x x3
) Prove |1 ¥* ¥'|= (x =y - 2)(z - x)(xy + yz + zx)
3 11-Maths-Page-3
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44, (a) Prove that \/x3 7 — \/x3 4 is approx:mately to — when X is large.
(OR)
(b) (i)Find a unit vector along the direction of the vector 51 — 3 j + 4k

(11) Find the vectors of magmtude 6 whlch are perpendicular to both vectors
a=47 -]+3kandb 27 +]—ZE

45.(a) If the equation lambda Ax* — 10xy + 12y2 + 5x — l6y —3 = Orepresents a pair of
straight lines, find

(i) the value of A and the separate equations of the lines
(i) point of intersection of the lines (iii) angle between the lines.
(OR)

(b)Fmd the denvatlve of the function g(t) = (2 " +1

4. (a)Showthatllmx_,ox[[] []+ +[15” 120

(OR) :
by = (COS" x)? Prove that (1 — xz)m —~X Z—z — 2 = 0 Hence ﬁnd Vs whenx 0
47. (a) Evaluate f 27 dx |
u
V3x—x2 -2
(OR)

(b) A construction company employs 2 executive engineers, Engineers-1 does the work for 60% of jobs
of the company. Engineer-2 does the work for 40% of jobs of the company. It is known from the
past experience that the probability of an error when engineer-1 does the work.is 0.03, whereas the
probablhty of an error in the work of engineer-2 is 0.04. suppose a serious error occurs in.the work,
which engineer would you guess did the work? .

dkkkkdkkkikik
!

| ‘Bo u'G:_A DEV
PHigIpgyob2 42—
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Dhasmapust —D>T
SF@oTLmD BHBLLBHe0 BHITa] - 2025

auginy: 11 | HefZBLD ugley eTet :

&iTeutd : 3.00 Losuaf) , Guonggs wHi@ustirassir : 90
‘U@l - S :

Siowcorse ehlamasEneb aflewef | : | . 20x1=20

QarHiasiu’ L prerg, 2 oL SGdr abyemLw aileoLcow G5thOsH\dE eT(RBIS
1. f(x)=x* oresTm sty Spuné Fnfuns Diemww Gevsdr(Hib reofieo élg)dsr FTfus P FieneT FTiusPLD

WonBu Y
1) RR 2)R.(0,0) ~ 3)(0,©)R 4) [(0,e0),[ (0,00)
2.log, 5 0.25=4, erefido x-61 Wy :
' 105 .. . "(@25. @15 4 1.25
sin(A-B) sin(B-C) ‘sin(C-A) - _ ) e
cosAcosB cosBcosC cosCcosA S i
(1) sin A+ sin B+Sin C 21 3)0 (4) cosA + cosB + cosC
4, (“'I)Cr+ (n'l)C(r-l)croﬁTugj ' . o ' i
ey “ogye-le )G 4)*Cpy
12y, 1(2\2 12y
5. 1-3(5)+3() -1(5) wwosm \ | i 1
.5 : 3 5. - 5,5 2 2
(@) log = _ @) 3log 3 3 ‘(3) slog 3 (4)3log 3

6. x+2xycotf -y*=0 ereirp S cmL CriGei_1q cir swatun(hsafleo @ FwesTun(p
(1) x-ycotf =0 (2) x+ytanf=0 - (3) xcosf+y(sinf+1)=0  (4) xsinf+ y(cosf + 1) = 0

-1 2 4] -2 4 2
7.A=|3 1 0| wpgo B=|6 2 0| creféo
-2 -4 2 -2 4 8

()B=4A.  (2)B=-4A  (3)B=-A  (4)B=6A .
8.4 whpib b 6@ SeviourL Gsremb 120° [Gl=1, [b] =2, orefles  [(G+3 B)x(3E- B et wloy

1)225 (@275 (3)325 7 (4)300
1" Biie ' : . ‘ '
9. lim (F +§+:—2+%) a)TlDé]uq
n-—oo . . y .
w2 @o - R OR
10. x—asme whHmib y = bcosB then ‘ y arcmugj MR
1) Zsec?f  (2)— Zsec?0 @3)= Esecm (@)~ Zsec?6
ex—1 4 i
1) log| €| - logle 1|+C S 2) logle™+ log | €*-1+C
3) log |e*-1}-logle”+ C ' 4) log [e*+1 |- log e*| + C

12. ® @Iﬁ]ﬂlﬂl'—L scogmnfliiies 4% F56fimb wrarautsdr whmid 1% F5ais0h wraoreutsdr 1.8 B
2 wrsSHh@ Guwd 2_dieTart Guaib scoEIflSlds Guwrss araisramﬁdsamcauﬂm 60% e aflwii sl
2 _edrareort. & ambiy apeopuSiss 1.8 Bt 2 wrsHhH@ G Q@auamu CaibOs[HE@D @un@g]
St wraorsfluns Smuusbaicr Hepss gmcmcq g .
(1) 2/11 - (2311 3)5/11 4) 7/11
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| Py . : GucOL
A ={1,2,3,4) srebras Gugub @iy R @erg A ot By {(a,b) ; 2, bE A, axb @F'—-m‘—_

oT6dor} cueomU(pEEUL_LTe R — 61 afidssid.

1){1,2,3,4} ) {2,4} (3) {2,3,4} 4) {1,2,4} _
7210g7 5= . . ‘
(1) '°8; 35 @5 - (3)25 (4) log, 25
9 whHmb 2 g vweTuRHISS L@-wmmuu@m 10 Soodsa sredorafledT 61T el cms
(1) '°Ci +°C @2 G . () 10! .
IfO(A)=2x3,0(B) = 3x2 whpp (C)=3x 3 acfléd B pbacirL cTena mlanﬂw@$5UL @”‘”"@
1
(1) CB +A™ (2)BAC  (3)C(A+B ) (4) C(A+B™)
sin®@ + cos®@ +-3$in26c0_520 &bt 1Sy . .
(o 2)2. 33 44 !
i sin2x_ ) : : S i My : - [
Mmoo @2 33 (CRY
fa*dx =
N c (2) axlog¢ +C @) ;J +C
@b = -[d | b| srefico @ whbmnd b @m@gyd&@ @am_um_(:_ (Besrrazsrm ST
M4 - @180° T B 90° (460 :
| U - =

. 7x2=14

(chleorr orador 30 &@ sL_Lmub cflem aaﬂds&aub)
21.X= {1,2,3 .10 whmnb A— 20 3 4, 5} drasﬂmA B= {4} GTGSTQJLGTGH'G)JII'Q] \

22:
23.
24.

25.x%

26.
27.
28.

29.

Dicwwdsdsalgw X-co 2 drer B o mawhimer B S X sr,&)gs_masr 2_drargl. -

7 whHmb -3 Qbﬁu;l @wlﬁjmcmmuj&an S@U-m'& FLESTU_GoL BB &

cos 10° cos 30° cos 50°. cos 70° = 3/16 creord: HNStoTS :_ S 7
‘MISSISSIPPI * 616D mlrrﬂban,t_suﬂﬁo 2 _drar ﬂ@g,gldseﬁanar umaoru@;_bé’l ar,&,gsmwr @QJQIGQJ;_I)H&T

auflens WIHDHISET :’_@cmﬂdsmeonm ?

- DiFH oo Sy a_dTar QBTEDeOATETE Y Di&El6d @@fbg] 2_direr G\g)rrabaoml&s@ FLOWLNS

@@ds@mngn g)m@lh spap yoiraflufledr ISlqucoT U605 coIL @naisrm

‘Ib+c¢ bc b3c?
c+a ca cza2

a+b ab a?*b® ' . i S 35
ABC, etestp (pdBasiesor s Hlest BH8GsT_[H &S G ercofled GA + GB + GC="0 oreor !ﬂg)lmldi

=0 oreor Al

) 1
f(x) _x/—:-f-—:l- orefido ¢ (X)g} &HITCU0TE

B® QsnLiaickis. QFdogib LS uneog Slosr DcwotSlbesme Gﬁ]@gl tﬂam_uug,g)csncm Henss
oerm ydrefl 48 Gmm&mw W eopusled ey)wu@u"@uasanm VWESTURS Susbars  eHlms!
. oL tughan et @59.6561! ydrafl 36 wHpid (B'D'r""mim- 8o Gm@@fﬁanarmm QumiausHeN T
Hapssa) ydref 2 eroofico
() oopbss SO Ao ﬂm-uumb@)
(i) 8y @ ehl(Hg wHib S vusbencr Blsbssajsdr wrene ;
: ' : 11-gflgn-ussin-2
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30. f(x) = { 2,460 , . X=0 oo @g,nLﬂﬂlﬁﬁ)g)gj orer Himin)s.

2x+1, x>0
N s -8
TBrEIb G efeTAnEndE L HIb afaL Diehidsab - Ix3=21
shleorm eredor 40d@ HU_Lmub eflig welde)ib v | '
31. y=sinx, sTebrD cucveTEUEHT oo Y = sin |x| eredTug 6T QUCHIUL H6DE QUCDHIE

(@r‘.‘u@ sin( X) = - sin X) : ,
1 1% .00 1 41

3— J‘ V8- J" 7776 Je=5 J‘ 2

33. 6+0=a wHpbd tan 0 =k tan (Dcrasﬂso sin(0 - (Z))—

32. ai-@ds@as

1)
(k+1)

sin @ et Himiays
34. w euaonquileo ot (H) @@dsanasusdr ®_6iTereoT (et aflensufico @uax’m@ @@ésa»aaas@tb IIBH G
Qetryp> Sl auflmssefieo @aGaNETHgID PETDHI  SBHEDSEELD 2_diTemeoT Db
UDTIqIITGOTS) 7 wuiser F, M, S, Sa, S;; D, D, 2_drer @@ &HDUSHDE Gembsonerg. Gereu(hid .
Hlub s emneors & @) &I_UL@ éldi@@mug,ang, DIhg UEToTIqUIled 6758 HET Gn@asaﬂso - Sy |
®GU&HH0MD?
(i) obas HsL_[Huun@Hid &cocomped
(ii)) F &mmgj M. mjaisrmsmw QUL (Smxaisr@m o 5
(iii) F euetorig sow g1 (b Gungy D1, D2 &ctreorGoorrn @@aseﬂamﬂm &mum@@d’:a& (Bonaisr@m

35. 1+ 72 +.41914 + 3—{:’;* o‘rd’stg; sal_ () QubEE @FTLfler W6 n &_@uan_qascrﬂax &6 ()& 60 &esoT

log,3 logsg3

log;64 log,3 . ,
10934 10934’

30. logzs8 log,9

— QUHEESET WSIICOU SITETT.

i 37_3’,,—!)’,‘,5 ‘ _OTESTD. als\)@ Qcmem_uaS@ds@ @ b =ac= O u),q)g;no ) as@m T sEb SooLiulL
‘(?;esnazsrm g mm\ﬂm = ‘/_(b X_') eT60T ,rf,]@lfﬂ

38 mmsusn@a; y—\/X+\/—+\/_

39 Gaumlons 2 pHlHoyd RH orSifl ;r)rn_(b\ mﬂmnwrgmg (D Slomest sr;_f,]ﬂuu gjuunéscﬁlu.‘ilan &Q)QS]IUIT&')
SBBUL_EFIONE BTG woop LEESY s (LwETUESS) Wb  Sibs eRorarsms. W56,
ErerLmeugl, epeTmreug) HHID Lr,rrﬁmbrr(mg] @@mtﬁ]m & Gﬁgg@mgmmnw Hla &8 68560
weonGw. 0.2, 0 4,0.2 mgpguo 0.1 ‘steaféo &i,r_bg_r) eflorerdens &) Spsgoushater [5]85!95566)&!
asnaisrts

40. G\gsrra»aiuﬂ@& fsecx dx

’ ‘ . UGS —F

auanaxr_dsgl aﬁlasmdsas@dscdjw mﬂ@'—“-'aﬂ ' ! e 7x5=35

41. (a)(l) f : R—R e161D &rrﬁu f x) = 2x 3 ereor snw)uw@dsasuu;an f o @([Dllﬂ)&&"ﬁu DTt

Blap6les.
- 6T6OTD &nmﬂwr &nﬁuai,ésang, asnaims

1
(“) 1-2sinx -
(1600051 . N-salsb-ussin-3
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(b) @@ Bad@ 4 Guabisdr LHDID 3 Dpamsdr cTer ag 2 pailarisdr 2 _drarcrt. Stoufsersl
ma»wrmﬁ.\&@ 3 Quasrmer wHEId 4 BTseT oter 7 2 peflaTisdr 2 disTarl. R Soey
shpbHib@ 3 Quasiadr whpid 3 DLaTHer D saiubin Gurg, apeeflctt 2 peflerisdr 3
Gui LHHID DiCuTG P 2_mefleariser 3 Gui ereieurmy cAmhEc soobGBNaTeT
61656 aublseflco Diemipdaseomn? ‘ »

g i ol . (x+12)
42. (a) uBS) SledreoThisETN S L‘ﬂ[ﬂdsg,cmm DD

(S1600051)
1 1 1 n

T —

. ¥ * J ) . 3 3 o 1 . —
(b). saflpsd 051@ 558860 oo eTédeom Siwco mqimﬁdT n.- @& S +_2_3 34 " i) | n#l

oreor (hmicy s

43. (2) GruSwilesr gs8Tseos org S HBO

(&d)oogj)

I b . ' -
®) [1 ¥ ¥ =& -0 - 22 - Dy + yz + ) eror Hpioyss
1 z2 73 : ' -

44. (a) x @ Guflw eretor stefeo Vx3 + 7 — Vad + 4 — 6o wHoy BsTrmuons :—2 oreor Hlmio)

, (1600035)
(b) (i) 51 — 3] + 4k — ot Hlewswlleo 2_drer PIF PIVE ClEUdL NI ST,
(ii)a =4t — j+3k wHgibd b =27+ j -2k erefiéo & @mdstras@dé@,Lb Q@st@ssncor 6

maisraiﬁarau 2_eiTerm @@éLﬁtﬁ&)ﬁﬂ SNBSS,
45.(a) Ax? — 10xy + 12y% + 5x — 16y = 3 = 06[&3TU§] @@ B’ CriGam’ emL @@&@L‘b sreoflco -
(1) A —er Y HED gwﬁ.;'jr,g;a:ﬂ FWeTUN (& emeT asrré:‘ons‘. '
(i) 8w CanhsEndse SeoLiul L Gansmrb sms. e :
ey PRI T 8.sugodevmSe.B.Cs
(b) gt) = (Zitff_l 9 erebrm Enilcsr &Janéa@asqgan@ds seds; . 5 ?H‘ . &\ LP@—(?LO —E_Q_\.;.,?—/
46.(a) 1i_mx;0x[EJ + 3]+ + 15| = 120 crar Poows -
N ()
(®)y = (cos™!x)? m?‘ﬁé_‘) (1 - XZ)Z%"' X iax —2 = OGTGDT Blap§ Gogpid X% 0 —obr (Sung].yz S5t
oy : ; : ! Eairaits

47. GsnemstlHia I;FJ:Z"—Z dx
(D1600051)
48 slild sl @b Apoerssle Sres® Gewd - i
) , ” _ HOuUTdlwuneTiser UG SBuod s e (-
Ppoersfesr  60% whpb  40% @Emﬁ)aungifu:—l@drm@rﬁ,.
. -1 ohHoin

S o e e ek e e e e ok 1 el -
‘Gisun'ﬂgjlh D
CPU=USSIn-q
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